
 D. 10101010 

 17. Find 111 101two two+ , leaving your answer in base two. 

 A. 1011 

 B. 1001 

 C. 1001 

 D. 1100 

 18. Evaluate 617 545eight eight+ , leaving your answer in the given base. 

 A. 1364 

 B. 1346 

 C. 1463 

 D. 1436 

 19. Evaluate 453 62eight eight− , leaving your answer in the same base. 

 A. 341 

 B. 351 

 C. 361 

 D. 371 

 20. Evaluate 11101 1111two two− leaving your answer in base two. 

 A. 1110 

 B. 1011 

 C. 110 

 D. 101 

 21. Evaluate 134 23eight eight leaving your answer in base eight. 

 A. 3324 

 B. 3234 

 C. 4323 

 D. 4233 
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